



WypAll® General Clean L30 Heavy Cleaning Towels (05812), Strong and Soft Wipes, White, 12 Packs / Case, 90 Towels / Pack

05812

Features & Benefits

WypAll® is the number one brand of disposable wipes in the US and Canada. Create a clean work environment with light to medium duty general cleaning solutions. When you're looking for a lighter-weight towel at an everyday great price, you can trust WypAll® General Clean L30 Heavy Duty Cleaning Towels. They are designed with the DRC (double re-creping) process, which gives you high surface softness (a towel-like feel) with a reinforced grid that's strong for wet surface wiping and cleaning. These WypAll® General Clean L30 Heavy Duty Cleaning Towels are a great choice to replace air laid towels. They're also tough enough for light-duty processing, janitorial tasks and maintenance (as an alternative to towel rags in a box). They're a trusted tool to help you get the job done right.

This wiping towel has a towel-like feel at a value price (quarter-folded for easy storage)
Ideal for a wide range of light-medium duty general cleaning and maintenance wiping tasks (could be an alternative to towel rags in a box)

• WypAll® General Clean L30 Heavy Duty Cleaning Towels feature the double re-creping (DRC) technology, which gives them high surface softness and a reinforced grid for strength

• Soft enough for personal use on hands and skin (natural rubber latex free), strong enough for wet surface wiping and cleaning

Product Details

Brand:	WypAll®
Size:	12" x 12.5"
Color:	White
Pack 1:	12 Pack(s) / Case
Pack 2:	90 Unit(s) / Pack
Pack 3:	1080 Unit(s) / Case







WypAll[®] General Clean L30 Heavy Cleaning Towels (05812), Strong and Soft Wipes, White, 12 Packs / Case, 90 Towels / Pack

05812

Related Products

	Description	Code	Color
T	Quarterfold Wiper Dispenser for WypAll® and Kimtech™ Wipes (09107), Countertop or Bench Top Unit, Grey, 6 Dispensers / Case	09107	Grey
N NAME	WypAll [®] Quarterfold dispenser	45888	Black







WypAll® General Clean L30 Heavy Cleaning Towels (05812), Strong and Soft Wipes, White, 12 Packs / Case, 90 Towels / Pack

05812

Product Variations

	Description	Code	Color
	WypAll [®] General Clean L30 Heavy Cleaning Towels (03086), Strong and Soft Wipes, Pop-UP Box, White, 10 Boxes / Case, 120 Sheets / Box, 1,200 Wipes / Case	03086	White
05820 10 mm	WypAll [®] General Clean L30 Heavy Cleaning Towels (05820), Strong and Soft Wipes, Center-Pull Rolls, White, 300 Sheets / Roll, 2 Rolls / Case, 600 Wipes / Case	05820	White
05841 03. 	WypAll [®] General Clean L30 Heavy Cleaning Towels (05841), Strong and Soft Wipes, White, 875 Towel Sheets / Jumbo Roll, 1 Roll / Case	05841	White
	WypAll [®] General Clean L30 Heavy Cleaning Towels (05816), Strong and Soft Wipes, White, 120 Sheets / Pop-Up Box, 6 Boxes / Case, 720 Wipes / Case	05816	White
	WypAll [®] General Clean L30 Heavy Cleaning Towels (05800), Strong and Soft Wipes, White, 100 Sheets / Pop-Up Box, 8 Boxes / Case, 800 Wipes / Case	05800	White







WypAll[®] General Clean L30 Heavy Cleaning Towels (05812), Strong and Soft Wipes, White, 12 Packs / Case, 90 Towels / Pack

05812



WypAll® General Clean L30 Heavy Cleaning Towels (05843),05843WhiteStrong and Soft Wipes, White, 24 Rolls / Case, 70 Sheets /Small Roll, 1,680 Wipes / CaseSmall Roll, 1,680 Wipes / Case

